
 
 

 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

A. Outside dimemsion 

B.  A48 USB board jumper setting 

C. A49 Terminal board jumper setting 

D. Exploded diagram 

 
 
 
 
 

 
 

FCD-503 
User Manual 

(Ver 1.0x) 



 1 

A.  Outside dimemsion 

 
 

148.2

4
2
.
0

79.252.5 1
2.
0

10
.
0

4-M3*0.5

15
0
.
0

 

B.  A48  USB board jumper setting 

        JP2 :  
1 VCC2 
2 D2+ 
3 D2- 
4 GND2 
5 GND1 
6 D1- 
7 D1+ 
8 VCC1 

82

71

81 JP2

A48
JP1



 2 

C.  A49 Terminal board jumper setting 

(**Rrmark:This connect board is design for TOSHIBA XM 7002B slim 

CD-ROM,Q.lity SCR-242E ,DELTA OIP-SD2400A,VENTECH VIN-S24A or 

compatible) 

JP1 : 
1 Audio L-CH 2 Audio R-CH 
3 Audio-GND 4 Digital GND 
5 /RESET 6 DD8 
7 DD7 8 DD9 
9 DD6 10 DD10 
11 DD5 12 DD11 
13 DD4 14 DD12 
15 DD3 16 DD13 
17 DD2 18 DD14 
19 DD1 20 DD15 
21 DD0 22 DMARQ 
23 Digital GND 24 /DIOR 
25 /DIOW 26 Digital GND 
27 IORDY 28 /DMACK 
29 INTRQ 30 /IOCS16 
31 DA1 32 /PDIAG 
33 DA0 34 DA2 
35 /CS1FX 36 /CS3FX 
37 /DASP 38 +5V 
39 +5V 40 +5V 
41 +5V 42 +5V 
43 GND 44 GND 
45 GND 46 GND 

49

50

1

2
JP1

4

1 JP4 JP3

4 1 40

39
JP2

A49

1

2



 3 

47 CSEL 48 GND 
49 N/C 50 Vender unique 

 
JP2 :  

1 /RESET 2 Digital GND 
3 DD7 4 DD8 
5 DD6 6 DD9 
7 DD5 8 DD10 
9 DD4 10 DD11 
11 DD3 12 DD12 
13 DD2 14 DD13 
15 DD1 16 DD14 
17 DD0 18 DD15 
19 Digital GND 20 KEY(N/C) 
21 DMARQ 22 Digital GND 
23 /DIOW 24 Digital GND 
25 /DIOR 26 Digital GND 
27 IORDY 28 CSEL 
29 /DMACK 30 Digital GND 
31 INTRQ 32 /IOCS16 
33 DA1 34 /PDIAG 
35 DA0 36 DA2 
37 /CS1FX 38 /CS3FX 
39 /DASP 40 Digital GND 

 
JP3 :  

1 +5V 
2 GND 
3 GND 
4 N/A 

 
JP4 :  

1 Audio R-CH 
2 Audio -GND 
3 Audio-GND 
4 Audio L-CH 

 
 



 4 

D.   Exploded diagram 
 

 

Item Part no. Description Q'ty Remark 
1 41011-0258XX-00 Disk drive bay 1   

2 32400-001100 FFC Cable 1   

3 46005-001900 Spacer support 2   

4 SLIM-05 SLIM-05 Board 1   

5 131A49-00-010 A49 Termilal Board 1   

6 32000-000152 USB Cable 1   

7 44310-030061 Hex head stud. M3*6 2   

8 44003-030062 Screw M3*6 4   

9 44003-020061 Screw M2*6 2   

10 44003-025041 Screw M2.5*4 4   

11 44003-020031 Screw M2*3 4   

12 44013-030041 Screw M3*4(flat head) 4   

13 131A48-00-000 A48. USB Board.  1   

14   2.5" HDD 1 Option 
15   Slim-floppy 1 Option 
16   Slim-cdrom 1 Option 

 


